
 PARTS INCLUDED 
1 Left Upper Swing Arm Cover 
1 Right Upper Swing Arm Cover 

1 Left Lower Swing Arm Tube Cover  
1 Left Upper Swing Arm Tube Cover  

1 Right Lower Swing Arm Tube Cover 
1 Right Upper Swing Arm Tube Cover 

1 Hardware Kit Including: 
1 5/16”-18 X 1” Hex Head Cap Screw—HHCS 

1 5/16” I.D. Flat Washer 
3 1/4”–20 Nylock Nuts 

3 1/4”–20 x 5/8” Socket Head Cap Screws—SHCS 
2 Flat Clamps for Upper Swing Arm Cover 

1 “P” Clamp for Upper Swing Arm Cover 
1 Installation Instructions 

Please read and understand entire instructions before starting installation. 

THANK YOU FOR CHOOSING KϋRYAKYN! 

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/OR 
PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL      
INSTRUCTIONS, WARNINGS, CAUTIONS AND NOTICES REGARDING THE USE 
AND CARE OF THIS PRODUCT. 

TOOLS SUGGESTED 
Set of Hex Wrenches, Set of Combination Wrenches 

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE  
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS. 

STEP 1 Read and understand all steps in the instructions before starting the  

installation. Park the motorcycle on a hard, level surface and turn off the 
ignition. Let cool. 

NOTE: In some instances, there will be a small gap between the tubular

swingarm covers and the axle cover. The size of the gap will depend on 

the shape and style of the axle covers being used. If the potential of 
this gap causes concern, we suggest using our complete Swingarm 

Cover Kit with Lighted or Un-Lighted Phantom Covers. 

INSTALLATION 

CHROME SWINGARM COVERS  8108 

-cont.-

THIS INDICATION ALERTS YOU TO THE FACT THAT   
IGNORING THE CONTENTS DESCRIBED HEREIN CAN 

 RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. 

This indication alerts you to the fact that ignoring the  

contents described herein may negatively affect product 
performance and functionality. 

IF INSTALLING THIS PRODUCT FOR ANOTHER PARTY, 
PLEASE MAKE SURE THEY RECEIVE THIS COPY OF THE      
INSTALLATION INSTRUCTIONS SO  THEY ARE AWARE OF 

      THE IMPORTANT INFORMATION CONTAINED IN THEM. 

https://www.motorcycleid.com/kuryakyn/


PAGE 

2

YOU WILL BE WORKING AROUND THE ENGINE AND EXHAUST 
SYSTEM DURING INSTALLATION. ENSURE THAT THE ENGINE 

AND EXHAUST SYSTEM HAVE FULLY COOLED TO PREVENT 
 INJURY. 

STEP 2 Identify the components used on the right and left sides of the bike. The frame  

tube covers are cut to length to exactly fit the lengths of tubing on each side of the 

swingarm. To identify placement of these different tube covers, look for cutouts 
that will fit around various contours and tabs welded to the swingarm.  

STEP 3 Snap the chrome tubing covers into place on each side of the swingarm. PIC 1 

Although these fit tightly, you may place a couple small dabs of silicone on the 
inner surface of each cover for added security. 

STEP 4 Install the upper swing arm covers. 

RIGHT SIDE: PIC 2 shows the orientation of the “flat” and “P” style clamps on the

cover. The “flat” clamp will be used on the end of the cover nearest the 
front of the bike, and the “P” clamp will be used nearest the rear. Both 

clamps are fastened with a 1/4”–20 x 5/8” Socket Head Cap Screw and a 
Nylock Nut. 

LEFT SIDE:  This cover will attach in a similar manner to the right side, but instead of

the “P” clamp in the rear location, it will attach to the belt guard 

mounting tab on the swingarm. The stock 5/16” bolt and nut will be used 
here, but a 5/16” flat washer will be placed over the mounting tab for  

added strength. (PIC 3 shows an installed upper swingarm cover — right 
side.) 

It is the installer’s responsibility to ensure that all of the fasteners (including    

pre-assembled) are tightened before operation of the motorcycle. Küryakyn will 

not provide warranty coverage on products or components lost due to improper 
 installation or lack of maintenance. Periodic inspection and maintenance are  

 required on all fasteners. 

 CHROME SWINGARM COVER SET INSTALLATION

PIC 1 

SNAP CHROME  

COVERS INTO PLACE 

PIC 3 

UPPER SWINGARM 

COVER INSTALLED 

PIC 2 

FLAT CLAMP 

USE 1/4” SHCS, WASHER 

AND NYLOCK NUT HERE 

“P” CLAMP 

Ride On! 

Discover various motorcycle custom accessories and trim in our online store.

https://www.motorcycleid.com/custom-accessories-trim.html



